
WRITING 

WRITING TASK 1 

You should spend about 20 minutes on this task. 

The diagram below shows the manufacturing process for making sugar from 
sugar cane. 

Summarise the information by selecting and reporting the main features, and 

make comparisons where relevant. 

Write at least 150 words. 
How sugar is produced from sugar cane 
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(f) Drying and cooling 
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WRITING TASK 2 

You should spend about 40 minutes on this task. 

Write about the following topic: 

Writing 

In their advertising, businesses nowadays usually emphasise that their products 
are new in some way. 

Why is this? Do you think it is a positive or negative development? 

Give reasons for your answer and include any relevant examples from your own 
knowledge or experience. 

Write at least 250 words. 
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Sample Writing answers 

TEST 2, WRITING TASK 1 

This is an answer written by a candidate who achieved a Band 6.0 score. 

The. diagram illustrate.s the. prole.ss b1 whilh sugar is produle.d from sugar lane.. The. prole.ss 
GOnsists of se.ve.n ste.ps of various time. le.n9th, starting � farming sugar lane.s and e.ndin9 � d� 
sugar re.ad1 to use.. 

First. su9arlane. is farme.d and nurishe.d for a pe.riod of 11- to IS months, whilh is the. lon9e.st ste.p 
in the. whole. prole.ss. '5e.l0nd, sugar lane. 9e.t harve.ste.d b1 the. me.ans of two wa1s, e.ithe.r manuall1 
or usin9 spe.lializ.e.d ve.hide.s. Third, the. harve.ste.d sugar lane. 90 through the. ste.p of lrushin9. 
re.suiting in liquid form lalle.djuile.. 

The. fourth ste.p involve.s purif1in9 the. juile. through Lime.stone. filters. The. purifie.djuile now 9oes 
through the fifth ste.p, whilh put it unde.r eitreme. he.at to allow it to e.vaporate to get s1rup out 
from it. Then the s1rup is le.ntrifu9e.d to separate sugar l�stals from s1rup. Onle. that happend 
the sugar is ta\C.en into the last phase of d�in9 and l0olin9. whilh finalise the proc.e.ss and produc.e 
re.ad1-to-use sugar that is pal\C.e.d and re.ad1 for sale. 

Here is the examiner's comment: 

There is an overview presented in the first paragraph which summarises the 
process into the farming stages and the drying stages. This summary could be 
more detailed, e.g. farming, crushing, separating and drying stages. The ideas 
are presented in three paragraphs and follow the logical sequence of the process. 

Cohesive devices are basic [First I Second I Third I fourth] and there is some 
repetition, but there is a clear progression. 

Spelling is generally accurate and the vocabulary conveys the message well, with 
some range [the longest step I specialized vehicles I liquid]. Grammatical range is 
weaker and there are a number of errors [get harvested I is harvested] including 
third-person endings [go through I goes through I put I puts]. 

This response could be improved by a more detailed overview and more accuracy 
in grammatical structures. 
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Sample Writing answers 

TEST 2, WRITING TASK 2 

This is an answer written by a candidate who achieved a Band 4.5 score. 

In their advertif>ing, buf>inef>f>ef> nowdaif> sometimes stref>s that their produdf> are new in some 
wa1, From mi point of view, some businesses want to have good produds to give to the people, but 
usuall1 thei wor� about their produds are newer than some other's businesf>es produdf>. 

In think it is a negative development, bec.ause when businesses stref>f> about the qualii'i of 
their produdf>, sometimef> thei do something wrong while thei are produc.ing them. It is good 
when the buf>inesses take c.are of and look after their produc.ts but with a limit. Ac.c.ording to some 
eipertf>, when 1ou take a lot of c.are of something, 1ou will probabli do f>ome things, about it, wrong. 

From mi own eiperienc.e, I was t�ing to make three sc.hool projec.ts, whic.h mi teac.hers asked 
me to do, and despite mi hard work and bec.ause I was stressed about the projec.ts I had to do, I 
fina\\1 failed bec.ause I had made a lot of mistakes. 

10 sum up, businesses nowda1s should not stress about their produc.ts being new in some wai. 
Besides that thei should c.alm down and be c.areful on what the1 are produc.ing. 

Here is the examiner's comment: 
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This response does not really address the requirements of the question. There is a 
view expressed at the beginning of the second paragraph [a negative developmen� 
but mainly, the writer is talking about the quality of products rather than advertising. 

In the third paragraph, an example is given about an unsuccessful school project 
which is not relevant to the question either. This response only touches on the 
question set, and is a tangential response. Ideas are not arranged coherently, 

as they do not address the task given. Paragraphing is not helpful and there is a 
one-sentence paragraph. Vocabulary is not appropriate as it does not focus on the 
question set. 

Sentence structure shows a mix of simple and more complex forms with a range 
of tenses and modal and comparative structures. There are a number of errors but 
they do not reduce communication. 


